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BLM 9–10 continued

Chapter 9 Practice Test
For #1 to #8, choose the best answer.
Use the table below to answer #1 and #2. The table shows how many minutes Amelia spent doing homework each night over two weeks.
	Sun
	Mon
	Tues
	Wed
	Thurs
	Fri
	Sat

	30
	  0
	75
	70
	70
	35
	25

	40
	15
	85
	75
	75
	45
	30


1. What was the mean time that Amelia spent each night doing homework?


A 47.9 min   
B 51.5 min   
C 75 min   
D 85 min

2. Which amount of time could Amelia consider as an outlier?


A 0 min   
B 15 min   
C 75 min   
D 85 min

3. Sara is a 100 m sprinter. Her times in the last seven races were (in seconds):
15.0, 14.5, 14.0, 15.0, 15.5, 13.8, 14.6. 
Find Sara’s median time.


A 15.5
B 15
C 14.63
D 14.6

4. The measure of central tendency that can be far from the middle of a data set is the 


A mean   
B median   
C mode   
D average

5. A value that is significantly different from all others in a data set affects which measure the most


A mean   
B median   
C mode   
D average 

6. The theoretical probability of flipping “heads, heads” with 2 coins is


A 
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B 
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C 
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D impossible to determine
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C 
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8. These are Tamara’s bowling scores.

145
174
168
178
145
182
179
a) Does the mode give an accurate indication of how Tamara bowls? Explain why or why not.

b) Does the median give a more accurate indication of how well she bowls? Why?
9. Three frozen treats are flavoured raspberry, lemon, and orange. Without looking, Tara chose a treat, then decided she didn’t want it. She replaced it and without looking, chose another one. Create a table or tree diagram to show the sample space.

10. Two bags each contain one blue, red, yellow, and green marble. One marble is drawn from each bag. The table represents the sample space for the possible outcomes. 

	
	Bag 1

	Bag 2
	Blue
	Red
	Yellow
	Green

	Blue
	B, B
	B, R
	B, Y
	B, G

	Red
	R, B
	R, R
	R, Y
	R, G

	Yellow
	Y, B
	Y, R
	Y, Y
	Y, G

	Green
	G, B
	G, R
	G, Y
	G, G


 a) What is the probability that one of the marbles is green?

 b) What is the probability that the two marbles are the same colour?

 c) What is the probability that one of the marbles is not red?

11. As the number of coin tosses increases, does the experimental probability of heads get closer to the theoretical probability? Explain.

12. You roll one six-sided die and one coin.
a) Use a tree diagram or a table to show the sample space.

b) What is the probability of rolling an even number and flipping heads? Express your answer as a percent.

c) What is the probability of rolling an even or an odd number and flipping heads? Express your answer as a fraction in lowest terms.

d) What is the probability of rolling an even or an odd number and flipping heads or tails? Explain your reasoning.

Chapter 9 Practice Test Answers
1. A

2. A

3. D

4. C

5. A or D

6. B

7. D

8. a) no, the mode is only representing her lowest score

b) yes, it represents the middle of her scores

	
	Raspberry (R)
	Lemon (L)
	Orange (O)

	Raspberry (R)
	R,R
	R,L
	R,O

	Lemon (L)
	L,R
	L,L
	L,O

	Orange (O)
	O,R
	O,L
	O,O
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9. a) 7/16  or  0.4375  or 44%

b) 4/16  or  1/4  or  0.25  or 25%

c) 9/16  or  0.5625  or  56%

10. yes, the more times you run an experiment, the more likely you are to reach an experimental result closer to the theoretical probability.

11. a)

	
	H
	T

	1
	1,H
	1,T

	2
	2,H
	2,T

	3
	3,H
	3,T

	4
	4,H
	4,T

	5
	5,H
	5,T

	6
	6,H
	6,T
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b) 25%


c) 1/2


d) 100%   Even or odd are all the options on a dice, and heads or tails are all the options on a coin. Rolling even or odd and head or tails includes all possible outcomes. 
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